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ADS R HDCP 0~16
20224 12A8H
JIEAT K4 OUT IN 18H HD NET
1+BG L Rk 37 37 74 10 64
2 JeAt R 42 40 82 15 67
3 K Fnsg 42 39 81 14 67
4 e 1 37 38 75 8 67
5 BG s & 35 39 74 7 67
6 Hil 40 41 81 13 68
7 GNGSS 41 43 84 16 68
8 N SNV/NE)| 36 39 75 7 68
9 e Ak 40 40 80 11 69
10 BN B 42 43 85 16 69
11 REAS K 45 37 82 12. 4 69. 6
12 B B2 43 38 81 11 70
13 HA TEW 39 36 75 5 70
14 RE 8+ 42 41 83 13 70
15 I s 45 39 84 13 71
16 LA % 43 38 81 10 71
17 VA 3T 43 42 85 14 71
18 i H3E 43 37 80 8 72
19 & B 44 40 84 12 72
20 R B 44 39 83 10 73
21 FH AT 49 40 89 15 74
22 HAF 58 44 44 88 14 74
23 WL E2# 47 44 91 16 75
24 ER FR 42 48 90 15 75
25 RE i35 49 38 87 11 76
26 [fE i 48 41 89 13 76
27 AR B 45 46 91 15 76
28 Hf 5 44 46 90 14 76
29 KM HEH 47 44 91 14 77
30 HUE FEHE 43 44 87 10 77
31 R A 49 46 95 16 79
32 Al EE 47 48 95 14 81
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BYS A HDCP 17~40
20224 12H8H
JIEAZ K4 OUT IN 18H HD NET
1 RH g 42 39 81 20 61
2 Fa e o 42 40 82 21 61
3 i ST 51 48 99 34 65
4 5ot 47 48 95 30 65
5 A B 43 51 94 28 66
6 B 41 47 88 21 67
7 By =% 44 43 87 19 68
8 A 2% 48 43 91 22 69
9 HAR G 45 43 88 19 69
10 N ST 43 43 86 17 69
11 IR = 39 47 86 17 69
12 fBA £ =RF 48 41 89 19 70
13 =HH R 46 42 88 18 70
14 E IR 46 49 95 25 70
15 AR 44 54 98 28 70
16 e BE 48 44 92 21 71
17 HRig 8 48 50 98 27 71
18 i &= 50 44 94 22 72
19 H b ok 46 47 93 21 72
20 CINSSE =N 42 47 89 17 72
21 KL i 52 41 93 20 73
22 ViR 5 50 48 98 25 73
23 H 46 45 91 18 73
24 VeRk wpiE 47 51 98 25 73
25 il A B 51 48 99 25 74
26 L B 44 52 96 22 74
27 & I 57 45 102 26 76
28 =¥ B2 50 47 97 20 77
29 FIH #£E 49 47 96 19 77
30 B HUE 47 48 95 18 77
31 BT flk 47 56 103 25 78
32 Vi 588 47 52 99 19 80
33 R 57 56 113 31 82
34 By = e 59 57 116 28 88
35 s H T 56 63 119 31 88
36 I = 72 65 137 40 97
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